[ Efficiency vs vertpos | [ fake+duplicates vs vert r

:0-05: . . . = - [P L.
= E : : : @ 1 : : :
045w oo e - L
Y E N N N (] . . .
> o : : : = - : : :
A T o P 8 og i oo
Y RS N SRS — = | |
L o : : : 7 L : T :
5 0.03F i - [ AU S N 00 U AU
- N N N [ o N N N
0025;_' """""" " - o - L2 d :
] SRR R 4| A SO SO | SO SO
0.015F -} f ' : [ : : :
0.0k - 02 A0 | N S
0.005F4; - L : : :
o [ ——— o LB .......! \ .......! L ......! L
< L2071t R e e e e T H :
o [ | o :
-l+ 7 ) SEEEEEREETRE P P T S IS, T E T
1_—1 = TR I .
1072 0™ 10. 0?
track ref. point r (cr%)

—— D 75m—r—|t TO00E!
—— BQV-CKEREEN 1000evt

friciemd —— BRVLiBr -,
@ —— BEN-HESTSLHIT-18885VE 500001
N 01: : : : : N | SEEEEE T [P —
= E : : : : : o L
20.09------ SRRl SEEA IARARARA AR AR > L
" E : : : : : g | : : : : :
> E...... PR P O : : : : :
S T N S [ A R AR
c E...... PR . P PO = [ : : : : :
g0.07F : : : : : S I : : : ! :
o E : : : : : ° 3 : : : : :
%0'06;_""":'""" R é 0.6/~ AR AR Faeeee | paseeee

s LA TR SRS S A T

0.04f----rrmrmrfdemmeneben b (O EECEPETL PEPPEPR 4B EEPEPEEPEPEED

T R LA S L :

0.02F----- prenees o P rerenees e 0.2 [ERELERES: RERCEEE R | AR & EEEEE e

0.01E------ P 'h -------- P L : : : : :

I : : n"n"ﬂ* . :

T N | TS T S I I I IO L I
o 0 : - ] - : 9 =R : : : :
- C - '
© 1.05F------ PR s A P - - - - PR © r :
a g E a g L .
1:— ------------------------------- b SRR [ S SR TR -+ ¥ S -
0.95F- -+ ===skreeeeed 111 EEEEEEES SEPEPR C :

%9 =20 -10 0 10 20 30 093~ =20 -10 0 10 20 30
TP vert z (cm) track ref. point z (cm)

[ Efficiency vs. sim PV z | [ fake+duplicates vs Sim. PV z |

~ 0.01 : : ; ; T ~n 0.5
> F : . : : :
B0.009F -+ f-t--emee i SR R o 2 0.45
F : : c
%.0085— e - E 04
.007F 118 B R Fasenees £0.35
> E : i : @
D.006F 1 N S % 0.3
S : : =
2.005F AR RS e £0.25
bt E : : 8
0.004 08 R LEEEETE ERRETEEE = 0.2
E ; : : S
0.003F- R IR [ELEEECEE SLIEES F0.15
0.0025 | ++heeeedenenes 0 N - b s of
0.001E - ++heeesedeneees SRR X EREEE B 0.05E
o O ppuppupip oo o o ;
< E ] : ] = N ! o
&5 1055—- SITEE - tefd--- e Feeeeann é:s - : ;
1445 : B 1.5 == Sieie.. B .. ...
0.95F -5} {4 1 1 8 O S 5
0ob Ll Tl 1o 0 X AR = 5 u SO = —u =a mit = St ST,
=10 5 5 10 15 20 4 =2 0 2 4 6 8 10

Sim. PV z (cm) Sim. PV z (cm)



	Contents
	Page 1


